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1 Difficulty Answer
Easy
Medium
Hard
. 4 3 E D
Evaluate the expression: Fa
A)% B)-1 O)1 D)Jil_z
Translated version:
| Aa - 4 3
AIUTIATUNAU \[ - \/;
A)Z B)-1 O)1 D)+
2
1f§=§=§and a+b+c=90,thenfinda+h—c. E A
A)6 B) & C) 10 D) 12
Translated version:
Yy a b c %
1 T=575 Wy a+b+c=90u18249% a+b——c
A)6 B)§ C) 10 D) 12
3
Given M = 2, then find the value of fana H C
sin (a—-b) tan b
A) 1l B)?2 O3 D) 4
Translated version:
o o Si +b o . t
AU L3 M = 2 La7 [3UIANUDN and
sin (a—b) tan b
A) I B) 2 C)3 D) 4
4
ion- _ 14 _1 R D 4 H C
Evaluate the expression: (1 22) (1 32) (1 42) (1 20232) (1 Y
i 2024 2025 i
A) 205 B) 30 C) 2058 D)3
Translated version:
1A & 1 [ [ 1 1
WIATHAAL (1 N 2_2) (1 N 3_3) (1 N ?) ([ N 20233) (1 N 2024—’)
1 2024 2025
A) 2024 B) 205 C) Z0ss D)3
5
Given 2x2 + x + 1 = 0. Find the value of 4x° + x + 2024 H B

A) 2024 B) 2025 C) 2026 D) 2027

Translated version:




ANTUAIE 2x2 + x4+ 1 = 0 aauA1ed 4x° + x + 2024

A) 2024 B) 2025 C) 2026 D) 2027

6

Find the last digit of 3°%%*

A) 1 B)2 C) 3 D) 4

Translated version:

asmdaaangavinaaes 3704

A) I B)?2 O3 D) 4

7

Simplify: (x —y +t)’ + (t—x+y)° = 2(—x+y —t)(t —x +y)

A) 212 B) 412 O) 612 D) None of these

Translated version:
A (x—y+t)>+ (t—x+y) = 2(—x+y—t)(t — x +y) Watlugatina

Nt

A) 200 )4 ) 6% D) Nieglugtmanii

8

Evaluate th ion:
valuate the expression 1 N 1 . 1 N 1 N 1 . 1 N 1 9
1x2 2x3 3x4 4x5 5x6 6x7 7Tx8

7 1 5 03
8

N8 B2 16 p)48

Translated version:

AINIANINALL 1+1+1+1+1+1+1:?
Ix2 2x3 3x4 4x5 5x6 6x7 7Tx8

7 1 S5 3
A8 B 24 )l6 p) 48
9
A 40 m B
& ,l
15m xi—' 15m
10m pas % & 1om
15m T 15m
t’, i
D 40 m c

A man needs to travel from Point B to Point D across a square plot of land. This
plot measures 40 meters on each side and contains a rectangular pond in the
centre, which is 40 meters long and 10 meters wide. The pond is inhabited by
crocodiles that can only detect swimmers moving at an angle, not those moving




perpendicularly. What is the length of the shortest path the man can take from
Point B to Point D without being detected by the crocodiles?

a) 50m
b) 3072 + 20 m

c)40N2+ 10m
d) 60 m

Translated version:

A 40 m B
L -9
15m 3}‘ 15m
A~ 5 =
10 m k i0m
] B alla =
15m il i
r") &
L 40 m c

'
a o o =

» 4 5 - da o d da
grnaaunilseanisiuneainga B hlqa D duiinugldmasudsia nauliiauns
40 WRs AR A ULAZ LTI LU LA IMARNELEN BN A NN AWTINAINENT 40 AT
. C ¥ X d o . .
wazANNdN 10 was Uavhiiduiagenduassaszidnauismamadulsianizang
¥ iy o v L
wninaaaeubn e ndluge lddneaenlnluwwfiein  avuenaaes
Eunandunganiasauilarnimiauniainan B t9an D Tesalignaszidmngma

NULRaLT49N 1

a) 50 g
b) 30N2 + 20 was
c) 4072 + 10 a5
d) 60 a3

10

In the following sum, each distinct letter represents a different digit from 0 to 9.
What is the sum of the digits in BASIC ?

*** Note: The letter O in ROSS may be different from the digit 0.

R O S S
+ E S S

B A S I C

a) 1l
b) 12
c) 13
d) 14

Translated version:

Tunrsuansaliil FadneesnuAnFATuLAazFunanlanRLANAYNTWAT 0
M9
navanaadiaainaaniili BASIC wWuwinle

xRN Aaenes O lw ROSS a1aazumnsinganiaziam 0
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W

wy)
>
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a) 11
b) 12
c) 13
d) 14

11

60

28

TN\ /T TN\
/AEEDNYALITIDN

If the number on the pyramids on the left and on the right have the same pattern,
what is the sum of m and A ?

a) 10
b) 11
c) 12
d 13

Translated version:

60

28

T\ /T TN
/AR BNYALITIDN

¥ o = a 4 ¥ v = A o
mmLmuumzummusmme’mm’mgmmummuﬂu HALINYEY m WAy A 1w

winla
a) 10
p) 11
c) 12
d 13
12

Find the largest number among these numbers: 150%, %, 2—0.125, 1.50

63
A) =
B) 2—0.125

C) 1.50
D) 150%

Translated version:




° 1 1 ° , % 63
AanAuINNINgRaInawIumail 150%, -, 2—0.125, 1.50

A) 2
43
B) 2-0.125
C) 1.50
D) 150%
13
(o] O O @
[ ] [ ]
: ?
@ [ u
© @ @ O man
Figure 1 Figure 2 Figure 3 Figure 4 Figure 8

The picture shows figures made up of n =1, 2, and 3 dots along each side.
What is the number of dots needed for the 8 figure?

a) 85

b) 101

c) 112

d 113

Translated version:

O @ O @
[ ] [ ]
. :
@ ® [
@ @ P ) EEE
Figure1  Figure 2 Figure 3 Figure 4 Figure 8

sinniluansgnisznausasqaatuau n=1, 2 uaz 3 qallauusiazanu feg

Tdauauqainladuiugii 8

a) 85
p) 101
c) 112
d 113
14
A1, Ary e e vee e e, Ay IS an arithmetic sequence. If a; =

13 and a;; = 73 what is ay?

a) 39
b) 43
c) 44
d) 45

Translated version:

Ay Ay eee e e e ooy Ay URIALLATATIA
fha; =13 uwea;; =73 udrag dawinle

a) 39
b) 43
c) 44
d) 45

15




diameter = 2r

diameter = 2r

height = 2r

1
1
1
I
1
1
1
height=2r |
1
1
1
1
1
I
1

e

A cone with a base radius of r cm and a height of 2r cm is completely
filled with water. This water is then poured into an empty sphere with a
radius of r cm. What will be the height of the water in the sphere?

2r 3r 3r
a)— b)— or d) Bl

Translated version:

diameter = 2r

diameter = 2r

height = 2r height = 2r

]
== o

TP unilaniiAing u r 9. waziaongs 2r o3, gniaNiiauis

- | o | Ao A H
u’]@Qﬂ@’]'ﬂuqniuslﬂiﬂiuvm\‘]ﬂ@NVIQ']\?L‘]J@’]V]N?WN T . qu@jwmuﬂuV}N

nandazidumnle

3 3r
a) — b)— o)r d)7

16

You have a square piece of paper that is 15 cm on each side. This paper is to be
cut at the corners and folded to form an open-top cuboid. If each cut is made at
integer values along the grid lines, what is the maximum volume that the open-
top cuboid can hold in cm??

Paper

15cmx 15¢cm

@ 196
b) 242
¢ 243
d) 252

Translated version:
v

1
o o a0 o

as o A Y = I~
@mmumummmmmgﬂmLmﬂmmmmmmmumq 15 =u. NITANTUNUUINAAN

q

yuuazRuiunssgnuiaimidaduuy drlunsdausiazaisiuinnisdnaandy

o [~3 % ndl dl ndl dl IS 1% .jl [3
AIUIULANATNLUILALFATITIN ﬂ?mmmmnmmmmq@ﬁmﬁmﬂmmuuuummmmu




Tatuminlalumdng a3

.....

Paper

15emx 15¢cm
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Changed version:
What is the last number in the row?
358591, 15843,3451, _ , ,. 72

A)9 B)5 C)3 D)1

Translated version:

o @ = o
anuaugavne lulnaAaanuaule

-~

358591, 15843,3451, _ ,_ ,._?

A)9 B)5 C)3 D)1

18

ABC is an equilateral triangle. If |[AB| = 6 ¢m and |AD|=4 cm, then find the value of
tan x.
A

A)3 B)? C)3v3 D) —

Translated version:
ABC fugilansumdainsnuin 61 |4B| = 6 91.uaz |AD|= 4 3. un

AIUIANUDY tan x




B .C
3 5v3
A)3 B)% ) 3v3 D)T\/—
19
Evaluat A S S
vatuate _—.
Vi+ V2 V2++/3 3+ 44 V35 + /36

A) 15 B) 24 C)5/3 D)6V2

Translated version:

AINIANUD 3 3 3 3

A+v2 v+ Brva T B+ Ve

A) 15 B) 24 C)5V3 D)6v2

20
A
40 cm
D
X
B 30 cm -
Find the value of x.
A) 22 cm
B) 26 cm
C) 24cm
D) 28 cm
Translated version:
A
40 cm
D
X
B 30 cm -

AUANTDY X
A) 22 .
B) 26 ww.
C) 24 .
D) 28 wu.

21

Given x2 +y?2 =13 andx X y = 2 find [x — y|.
A)3 B)2 )5 D)4




Translated version:
Avuald x2+y2 =13 uay x X y =2 A |x — ]

A) 3 B)2 O)5 D)4

22

Given x —y + z = 0, then find the value of x? + y? — xz — yz.

A) 2x? B)y’ 0)z° D)0

Translated version:
nvuald  x —y+2z=0 udawdes x2 +y? —xz —yz

A) 2x? B)y? CO)z? D)0

23

In the given picture, each partially shaded circle has a radius of 1 cm and has a right
angle marked at its centre. In cm?, what is the total shaded area?

Translated version:
Tugiiuua i aenaungnusnuNdruusazgRsAN 1 au. wasliyuainignin

o oed ¢ g 2 : . P
wsasuNnglinqaauenas Aundaungnusenvianuauinlaluuae .

24

1
Calculat =+ +—.
alculate o~ .

. 0.4=0.4=0.444..
A) 25 B)26 C)27 D)28

Not

Translated version:




1 N 2 N 3
0.1 0.2 0.3
v, 0.4 = 0.4 =0.444...

AIUNANUDY

A) 25 B)26 C)27 D)28

25

-~ 4 \
- Y
- / \
4 / \
> <2 / \
< 4 N
E A B
In the given triangle
|AB|=|AC|=BC]|
[EA|=4 cm
ICFI=2 cm
EFL1BC.

What is the value of [BF|?

A) 45cm
B) 6 cm
C) 5cm
D) 6.5cm
Translated version:
L
A
.r"ﬁ \'\ F
//Q \
pr
f )
. \
-~ / '\\
. / \
o i \

w s
E

lugilanuimaasinmunld
|AB|=|AC|=BC]
|[EA|=4 @.

|CF|=2 .
EF1BC

AN194 [BF| Wuwinle

A) 4.5 %,
B) 6 @u.
C) 5 wu.
D) 6.5 wu.

26

Ifa=1234and b =|a* —a+ 3]+ |1 —a?| — 2a?,

then find the value of b.




A) -1232 B) 1238 C)-1230 D) 1230

Translated version:
1 a=1234 uw: b=|a*—a+3]+]|1—a?|l—2a*

k% 1 v
WaY AuANTes b

A) -1232 B) 1238 C)-1230 D) 1230

27

In a class of 20 students, 8 students are interested in music and 10 in sports. If 3 students
are interested in both music and sports, how many students are not interested in both
music and sports?

A) 6 B)S C)4 D)3

Translated version:
TuduFeaunilantinEau 20 A H1nEaw 8 Auaulanusziay 10 auaulanin 413

UWNLTeY 3 ﬁu@u%mmumt,mqu HUN La‘ﬂuﬂmumimu%mmumumnﬂw
A) 6 B)S C)4 D)3

28

Calculate the area of the triangle formed by the vertices A(2,2), B(3,5), and C(5,1) in the
coordinate plane. Express your answer in square units.

Y-axis
w

A(2,2)

G551

o

a)5 b)5.5 )6 d)6.5

Translated version:
AeunaesglaumasNnassanantan A(2,2), B(3,5) uaz C(5,1) luszunu

o

WA UAAIAIMALUBIAM IULEIANFIMLE




Y-axis
w

2r A(2,2)

1r c5.1

X-axis

a)5 b)55 ¢)6 d)6.5

29

A

K M M’

The ladder AM with a length of 20 m is attached to the wall at 30° angle.
Later the same ladder is re-attached to the wall at the 60° angle. Find the
length of MM'.

A) 10

B) I0V6

C) I0V3—10

D) 10v6 — 10V2

Translated version:

A

K M %

1l AM f1iA9 819 20 §. gnanedafunumeyinygs 30 wasanniis tulady




WAL AUNYNIWFAARLAUNENATIYINYN 60° A91IAINENI28Y MM’

A) 10
B) 106
C) 10V3 - 10
D) 10v6 — 10v2
30
fQ2x+1) !
, X = —
Given \4 2x+1

~(3)
Find the value of 4 .
A) 14 B)4 C)8 D)le

Translated version:

el fQRx+1) =

: -1 1
JININTIUDN f (Z)

A) 14 B)y4 C)8 D)16

1
v2x + 1




